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(*) Instructions to candidates:

1) Figures to the right indicate full marks,
2) Use of scientific calculator is allowed )
3) Usesuitable data where ever required

Ques Question Description : Marks | CO Blooms
tion mapp | Taxonomy
No. ed Level

Q.1 Solve the following

i) | If the ac. input to a half-wave rectifier is an r.m.s value of | [2] |COl1 | Apply
200/Y2 volts, then diode PIV rating js..... .

a) 2002 V b) 400 V
€)200 V2V d)200 v

ii) |{Two LED’sare connected in series along with limiting
resistance. It is supplied with 10 V DC supply and drop [ [2] |CO1 | Apply
across each LED is 2V, the value of limiting resistance for 10
mA current is-----

a) 200 Q b)250 Q
) 600 Q : d) 400 O

iii) | In RC phase shift oscillator producing output at f = 500 Hz, R
" | =7.5 Kohm then C = ----. [2] | COl | Apply

a) 0.01 micro F
b) 0.017 micro F
c) 0.012nF

d) 0.001 micro F




iv) | For single phase supply frequency of 60 Hz, output signal
frequency in full wave rectifier is ---- [2] |cCOt | Apply
a)25Hz ' b)S0Hz
c) 120 Hz d) 200 Hz
v) | Each diode in a center-tapped full-wave rectifier is
-biased and conducts for of the input cycle. 21 |co1l |Apply
a) forward, 90 degree b) forward, 180 degree
c) reverse, 90 degree d) reverse, 360 degrec
vi) | What is the average value of half wave rectifier,
for Vp(out)= 50V ’ ) col | Appl
a) 212V b) 15V f2] PPY
) 159V d)199V @
vii) | In Center tapped FWR, if the peak value of secondary voltage
is 25 V then the peak value of the output voltage is 2] |coi |Apply
a) 243V b)11.8V
257V d)125V
viii) | The current flowing through the Photo diode without
illumination of light in reverse bias mode is called as -<ew-... 2] |cor |Understand
a) reverse current b) dark current
c) forward current d) pinch off current
ix) | Determine value of collector current Ic, for =180 and base
current Ig= 340 A, 2] co3 Apply
a) 61.2mA b) 46.8 mA
¢) 64.5mA _ d) 80.3mA
x) | For voltage divider biasing circuit, if R1 = 18 KQ, R2 = 4 y 2
KQ, VCC=I0V. What is the value of VB (voltage at Bas o
terminal)? | [21 |co2 |Apply
a) 207V b) 1.81V
c) 10V : d)s.1v
xi) | A forward potential of 70V is applied fo a Si diode. & —
resistance of 10 KQ ;g also in series with ‘the diode. The 21 |co2 | Apply
CITeNt IS--——----—-... (Assume Si diode practical model) PP
a) 0.93 mA b) 10 mA
lmA d) 0.7 mA /
"




=
<

xii)

In voltage divider biasing circuit using BIT, if VE=2.42 V
and RE=240 2, What is the value of emitter current IE?

a) 10mA b) 25 mA
c) 20 mA d) 100 mA

[2

co2

Apply

xiii)

What is the total phase shift requirement for a RC phase-shift

oscillator?
a) 90° b) 180°
c) 270° d) 360°

[2]

Co2

Apply

xiv)

The biasing circuit has a stability factor of 24. If due to
temperature change, ICBO changes by 3 pA, then IC will
change by ........c..

a) 8 pA b) 7.2 pA

c) 0.72pA d) 72 pA

(21

C0o2

Apply

Xv)

ix) Determine value of collector current Ic, for =200 and
base current Ig= 40 pA.

b)8000 mA

a) 8 Amp S50

c) 8mA

[2]

CO2

Apply

Q2

Solve any three out of four questions.

Sketch the internal construction of an n-channel
Enhancement type MOSFET and explain the pinch off

process?

151

COo3

Understand

b)

Draw voltage divider biasing CS amplifier circuit using n
channel E-MOSFET and Explain the significance of coupling
and bypass capacitors connected in the circuit.

(5]

CO3

Understand

Calculate Vs and Vps for the MOSFET with voltage divider
bias circuit, given parameters ar€ R, = 150 KQ, R, =20 K,
Rp = 200 &, Vpp = 24 V. Assume this particular MOSFET

has minimum values of lon = 200 mA at Vgs = 4 V and

Vgs(m)‘-" 2 V.

[5]

COo3

Apply

Q3

d)

a)

———
Sketch the Torward characteristics of SCR for different values
of gate current and explain turn 00 process of it.

(3]

CO03

Understand

Solve any three out of four questiong,

Explain the following terms relaed to a differential amplifier

with necessary diagrams
i) Virtual ground
ii) Slew Rate

(5

Co4

Understand




b)

Compare between Inverting and Non-inverting amplifier
configurations of an op-amp.

(5]

CO4

Understand

c)

Calculate closed loop gain of the circuit shown below and
find out its output.voltage if 3V DC input is applied to the
circuit.

Rf=60KQ

——AM——
Rin =20KQ

Va

v

-

[5]

CO4

Apply

d)

If 3 input voltages 100mv; 200mv and 300mv are applied at
inverting terminal. Find the output voltage.

100k

:160mv

:200mv

300mv

(5]

Co4

Apply .




